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1.Python ® 1 set()& (JiEH + gl 2 Ty 245 1 (1) -

2.a={3,78,100,1250}
b={100,1250,3,78}
print(al!=b)
##(2)

3.a={2,5,7,9,11,25}
b={7,9,11,25,36,48}
print((3))
##(2,5,36,48}

4. 1import (4) as np
data=np.arange((5), dtype="1nt32").(6)((5,6))

print(data)

#[LO0 1 2 3 4 5]
[6 7 & 910 11]
[12 13 14 15 16 17]
[18 19 20 21 22 23]
[24 25 26 27 28 29]]

5.x=data[(7)]

print(x)

#HIo 1 2 3]

[6 7 8 9]
[12 13 14 15]
[18 19 20 21]
[24 25 26 27]]

6. 3% & D: 123 . x1sx #h & Tl 4T

1388 E

A R v email
1080001 T EF&F = 1080001 @sun.tc.edu.tw
1080002 =f@#E I 1080002@suntc.edutw
1080003 fO=E8 T 1080003@suntc.edutw
1080004 f{a= £ 1080004@sun tc.edutw
1080005 S— i 1080005@sun.tc.edutw
1080006 =EZEHE = 1080006@suntc.edutw
1080006 =EH E  1080006@sun.tc.edutw
1080007 =F4 L 1080007@suntc.edutw
1080008 =ZBE E  1080008@suntcedutw
1080009 #LIE & 1080009@sun.tc.edutw
1080010 LEEE 2 1080010@sun.tc.edutw

"2 Python # P~ excel #4 % >
import (8) as pd
score=(9) (“d:/123.xIsx”,(10))
print(score)

print((11)[(12),[0,1,9,10,11]])
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86 88 82 87 92 435 87 3
92 90 95 99 96 472 944 2
62 87 66 62 g2 419 838 7
91 92 99 91 92 465 93 3
93 100 92 97 98 480 96 1
92 94 83 90 88 447 894 4
64 81 83 90 868 426 852 6
62 76 89 87 85 419 838 7

0 0 0 0 0 0 o 11
a3 o6 af o4 a3 273 546 10
81 85 64 86 83 419 838 7
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S #E MR email F—® EFE_X F—=—xk SEM=kx 4Lk Ha N
@ 1eseeel T575F = 1es800el@sun.tc.edu.tw 86 88 82 87 92 435
1 1esees2 TFE# #r 1080002@sun.tc.edu.tw 92 98 95 99 96 472
2 1@seee3 {IEE I 1080003@sun.tc.edu.tw 82 87 86 82 82 419
3 1eseeed AEE =  1eseeed@sun.tc.edu.tw 91 92 99 91 92 465
4 1eseees = | F * 1es8eeds@sun.tc.edu.tw 93 188 92 97 03 430
5 1980006 SiEWE = 1080006@sun.tc.edu.tw 92 94 83 98 88 447
6 1080006 iEWE = 1080006@sun.tc.edu.tw 84 81 83 98 88 426
7 1e8ee07 =4 I 1080007@sun.tc.edu.tw 82 76 89 87 85 419
8 1eseess =FEB F 1080003Fsun.tc.edu.tw ] 8 2] 8 2] 8
o 1eseeec #tLM¥E # 1080009@sun.tc.edu.tw 53 56 57 54 53 273
10 1eseele MEE = 1080018@sun.tc.edu.tw 81 85 84 86 83 419
Py =R
@ 87.8 S
1 o4.4 2
2 83.8 7
3 93.8 3
4 96.8 1
5 89.4 4
& 85.2 6
7 83.8 7
8 8.8 11
9 54.6 10
18 83.8 7
BE e 8249 H #|E

B 182681 | EFE 435 87.8 L

1 198002 THEE 472 94.4 2

2 1es8epe3 {IES 419 83.8 7

3 1@8eee4 T% 465 93.8 3

4 188e@es = | ¥ 488 96.8 1
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1. % r 2 False

3. a’b 4. numpy

5. 30 6. reshape

7. ) 8. pandas

9. pd.read excel 10 skiprows=l

11. score.iloc 12. 5
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1. % Python ﬁ.i\r}i)""l PR A B e AR ] 4t ‘7%1 P * ?(304)
(g)LgPythonﬁ.\pl{’Ltl FRUE 3B e AR ET A bt ¢ G
(1)]‘4— l»!r{tf(lf 6186)
RypiE 2 hE Bk A2 2N PR TRIT Ao R BIER 2 0 I F A BHAZNE » BRI B WA -

x=10
1f x<5:
print(“x>5")
else:
print(“x<=5")
(2)i B](for, while)
O E BT - BEARNE 0 BT

EE B TR o
for 1 in range(5):
print(i) #ﬁ%
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(3) B #& 4cit (break, continue)
break * kptd @ v ik Bl > contiune PP § i X > E i r T - B H o
for 1 1in range(5):
if 1==3:
continue
print(i) #ﬁﬂiOl 2 4
(4) 6]t 22 (try-except)
PR R I AR R T EART T IR U AR R .
try:
result=10/0
except ZeroDivisionError:
print(“You can’t divide by zero!”) #ﬁ%ﬂ%YOu can’t divide by zero!

2.3 e 212 (104)
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